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A plant cell is placed in an unknown salt solution. The cell

membrane is impermeable to salt. The above graph represents the

change in salt concentration WITHIN the cell.

:(a) Describe -the concentration (or tonicity) of the solution
' - which surrounds the plant cell at 0.5 hours.
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(b) Explain the results shown on the graph:
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(c) 1If salt were added to the solution surrounding the cell at

~ hour 4.0, describe how the graph would appear and explain
your answer.

‘Describe the appearance of the plant cell after salt was
added to the solution. '
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. Figure 3.4 shows three microscope fields containing red blood cels. Arrows
" indicat the direction of net osmosis. Select three different colors and use them
10 color the coding circles and the corresponding cells in th<? dlagmms. Then,
' _-'c.-.spond to the questions below, referring to Figure 3.4 and inserting your

-answers in the spaces provided.
O Water moves into the cells

‘ O Water moves out of the cells

O Water enters and exits the cells at the same rate

1. Name the type of tonicity illustrated in di agmms ‘A, B, and C.
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2. Name the terms that describe the cellular shapes in diagrams A, B, and C.
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3. What does isotoric mean?
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4. Why are the cells in diagram C burstmg’

.- In Figure 3.13, an artificial cell with an aqueous
solution enclosed in a selectively permeable
membrane has just been immersed in 4 beaker
contzining a different solution. The membrane is
permeable to water and to the simple sugars
- glucose and fructose; but is completely
_impermeable to the disdccharide sucrose. Answer
the following questions pertammg to this situation.

_ i. Which solute(s) will exhibit net diffusion mto

?
the cell? ﬁ_“& ‘@66_

2. Which solute(s) will exhibit net diffusion out of the

cell? :
Jucose

Erivironment

.01 Msucrose
.01 Mglucose
_.01 M fructose

Cell
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Figure 3.13

3. In which direction wﬂI there be net osmot:c movernent of water?
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4. Will the cell crenate or swell?
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